A/

EBRAZA / Components
No. £ / Part name = / Pcs # & / Material & - RE AL / Color:Finish
1 IL—L4 4 TILSIR A A6063S-T5 DILIN=T AL, TSVITILIAH
Frame Extruded aluminium A6063S-T5 Silver , Black = Anodized
2 a—r—Jayy 4 ABSHHE UL94HB SANTL—, TS5vY
Corner block ABS UL94HB Light gray , Black
3 J—4—F-v7 / Blind plug 8 ISAkY / TPE SARJL—, T5v% / Light gray , Black
4 INAAFR STV 1 7 ILZHR A1100P DIWIN=T AL, TSv9 - B
Slide panel Aluminium A1100P Silver - Anodized , Black - Painted
5 L&/ R 1 7 JLSHR A1100P DIWN=TIRAL, TSvY - BE
Screwed panel Aluminium A1100P Silver * Anodized , Black * Painted
6 HUFE R (X M4 x 15) 16 % ={foai—k
Screw (Pan head M4 — 15) Steel Trivalent chromate
7 ERAHE R (EEF 5L M3 x 5) 6 &% S LdyE | ZERIAA—
Screw (Slotted raised countersunk M3 — 5) Steel Nickel plated , Black trivalent chromate
5

A
A

g¢ DD

B8k (BZFEERED) / Color Type (End product numberd)
50+ / Code INAJL / Panel JL—.Ls / Frame O—J— / Corner
GSS < )LsS— / Silver < )Ls3— / Silver SA kL — / Light gray
BSS < JLIR— / Silver L JL7N— / Silver J5w% / Black
BBS < )LsS— / Silver 7594 / Black 75v% / Black
BBB 75974 / Black TS99 / Black J5w% / Black

4r—REE FCS - - 50
Product Number
w D BiES
Color Code
W, D T HIBR&EEH / Dimension limit range
W D
75 ~ 399 400 ~ 600
fh/Title
[TAKACHI] #st&itahFEMTSE St A X5 R O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. CUSTOM DIMENSIONS BOX
7 E2/Approved %X /Checked H[H]/Created FIF /Product number RIE/Scale
FCSO-O-5000 (W75~399 , D400~ 600)
iR 4t 1l M

{ERLH /Date 2019/09/04




L —L348] / Frame3 side

IL—L 148l / Framel side

O]
O]
N\
W (75~399)
<— B
o N
=)
2
d
g 1 |
(e}
N L
l<— B

TL—L248] / Frame2 side

7 A\
i g

A-A(1:4)

INAAFHFINFILERI~T 3% / Slide panel Max dim. W-40

B#TiE / Max dim. W-46

REEDH/SRIVEZNT % / Screwed panel Max dim. W-46

TL—LA8] / Frame4 side

50.4

AE-HIN

B-B(1:4)

Bxh~Ti% / Max dim. 44

INAAFH ISR ILE B TiE / Slide panel Max dim. D-40
BH#~tE / Max dim. D-46

<

i
|
|
|
|
|
|
!
!
!
!
!

|
|
|
|
|
|
|
|
|
|
|
|
1

13.2

Ty

C

LSO/ SRILEZI~TiE / Screwed panel Max dim. D-46

C : ZL—LHLKE / Frame cross—section

F+vkL—JL / Nut rail

RASMALFyLEiE
BIFEYA T avfh RSAKF Uk FZ-3 ZANSENHEFET,

Groove for slide nut

[
()

Slide nut FZ-3 (sold separately as optional parts) can be inserted

HASHINFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4 /Title
2)—H A XRyIR
CUSTOM DIMENSIONS BOX

A
S

A& 58/ Approved

iR

18] /Checked

FFt

#X]/Created

w1l

B F /Product number
FCSO-0O-500 (W75~399 , D400~ 600)

RE/Scale
1:4

{ERLH /Date 2019/09/04




18.1

18.1

8.7

8.7

4.05
1.2

45

1.65

2.5

19.7

4 13.7

=

)

(v

S2 9 n
LAY N\
N

g

9 |13.7

22.7

8.2
~
i

18 <

5.7 o

™~
<
4-M4

+vkL—JL / Nut rail

2-M3

31.7
) Ve

JL—.s1 / Framel

W-46

mmfa/Title
= A ==
TAKACHI] #RXESHAHFERT % SL— A O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame1

7K 58/ Approved 18X /Checked H[X/Created R /Product number RE/Scale

H50.4 — W75~399 115
K4 < ol
iR At LW 3 /7

{ERLH /Date 2019/09/04




%uw}

JL—.L\2 / Frame2

o

[9 e —————————————————

™ P ————

5

mmfa/Title
= A T ki
TAKACHI] #RXESHAHFERT % SL—L2 O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame2
7K 58/ Approved 18X /Checked H[X/Created R /Product number RE/Scale
H50.4 — W75~399 115
iR At AT 4

YERH /Date 2019/09/04 a




8.7

18.1 18.1

8.7

19.7
4
o]
o
< -
=D
QZ
[Ip]
3 1'
— ;#l
=5
10| 10
< | N
9
22.7

13.7
8.2

14.7

5.7

14.7

13.7

3-M3

D-46

494

F+vkL—JL / Nut rail

a
w

31.7

L —.L3 / Frame3

i

{ﬁ
SV \$

mmfa/Title
= A ==
TAKACHI] #RXSH4HFEHTE SL—L43 O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame3
B v v RE/SCNG
7K 58/ Approved 18X /Checked H[X/Created R /Product number
H50.4 — D400~ 600 12
iR At AT 5 /7
YERH /Date 2019/09/04




Y

n

[\

l,

a
w

i

A\

[

{0

L —.1\4 / Frame4

BRSUINFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4 /Title
JL—L4

Frame4

n7j\r"’1
|

B/ Approved

iR

1% X /Checked

FHt

H[X/Created

il

B F /Product number
H50.4 - D400~600

RE/Scale
1:2

{ERX B /Date

2019/09/04




B®tiE / Max dim. D-40

E%h~ti% / Max dim. D-46

INAAFH IRV / Slide panel

Bxh~ti% / Max dim. W-40

I\ JLFRME / Panel Frontside

AL LEEH/SRIL / Screwed panel

BHh~ti% / Max dim. W-46

JNARJLERTE / Panel Frontside

R8s — Al

Surface protective film side

REES —HA

Surface protective film side

15

1.5

W-28.1

o
BN
[a]
JINAJLET / Panel Backside
W-28.5 6—24.2
4-R6
Lo
™~
<
475 4.75
L
[ee]
e
o
Lo
~
ﬂ"
13.75 13.75
JINFRJLEME / Panel Backside
fna/Title
TAKACHI| XS AHhFERI X INFRIL @B G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel
A& 58/ Approved 18X /Checked #X]/Created B F /Product number RE/Scale
W75~399 - D400~ 600 16
hif B4 1l .

{ERLH /Date 2019/09/04




	FCS□-□-50(W75～399mm、D400～600mm)
	FCS□-□-50(W75～399mm、D400～600mm)2
	FCS□-□-50(W75～399mm、D400～600mm)3
	FCS□-□-50(W75～399mm、D400～600mm)4
	FCS□-□-50(W75～399mm、D400～600mm)5
	FCS□-□-50(W75～399mm、D400～600mm)6
	FCS□-□-50(W75～399mm、D400～600mm)7

